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QUESTION 1

At a recent Board Meeting the Directors of an office fitting company ratified the company\\'s mission as: 

To meet or undercut all our competitors\\' prices\\' 

Which of the following is MOST LIKELY to be the company\\'s vision? 

A. To offer the best value office fitting service 

B. To reduce the cost of office fitting by 5%. 

C. To increase the company\\'s market share. 

D. To be the premier office fitting company 

Correct Answer: A 

A vision statement is a concise and inspiring statement of what the organisation aspires to be in the future. It should
reflect the organisation\\'s core values and purpose, and provide direction and motivation for its stakeholders. A vision 

statement should not be too specific or focused on the current state of the organisation, but rather on the desired future
state. Therefore, option A is the best choice, as it expresses a clear and aspirational vision that aligns with the
company\\'s 

mission of meeting or undercutting all its competitors\\' prices. Option B is too narrow and does not capture the essence
of the organisation\\'s purpose. Option C is too vague and does not indicate how the organisation will achieve its goal. 

Option D is too generic and does not differentiate the organisation from its competitors. 

References: BCS Practitioner Certificate in BAP Specimen, page 13. 

 

QUESTION 2

A local council has decided to completely redesign the way it provides library lending services it plans to stop lending
books and move towards an entirely online e-book lending model 

Four activities to be included in the Business Activity Model (BAM) are given below 

1. 

a) Lend books 

2. 

b) Establish licensing arrangements with publishers 

3. 

c) Define lending policies 

4. 
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d) Monitor lending usage 

What will be the dependencies between these activities on the BAM? 

A. c->b->a->d 

B. d->c->a->b 

C. c->d->a->b 

D. c->a->b->d 

Correct Answer: A 

A Business Activity Model (BAM) is a high-level view of the business activities that take place within an organisation. It
shows how activities are related to each other and how they contribute to achieving business objectives. A BAM
consists of five types of high-level activities: directing, enabling, doing, monitoring and controlling. A BAM can also show
dependencies between activities using arrows to indicate which activity depends on another activity to start or finish.
Therefore, option A is the correct answer, as it shows the dependencies between the four activities on the BAM
correctly. Activity c (define lending policies) is a directing activity that sets the rules and guidelines for lending e-books to
customers. It depends on no other activity and precedes all other activities. Activity b (establish licensing arrangements
with publishers) is an enabling activity that secures the rights and permissions to lend e-books from different publishers.
It depends on activity c and precedes activity a. Activity a (lend books) is a doing activity that provides e-books to
customers according to their requests and preferences. It depends on activity b and precedes activity d. Activity d
(monitor lending usage) is a monitoring activity that tracks and records how customers use and return e-books. It
depends on activity a and follows all other activities. References: BCS Practitioner Certificate in BAP Specimen, page
24. 

 

QUESTION 3

Alana has identified several issues in a process redesign project she is working on. 

including the following 

1) The suggested changes to the business structure will affect our relationships with suppliers. 2) The proposed
electronic data sharing with our suppliers will raise legal accessibility issues. 

Which TWO elements of POPIT consider these issues? 

A. People 

B. Processes 

C. Organisation 

D. Information and technology 

E. Procedures 

Correct Answer: CD 

POPIT is a technique for taking a holistic view when investigating a business situation or problem. It helps to ensure that
all aspects and dimensions of a business situation or problem are considered and addressed. POPIT consists of four
elements: People, Processes, Organisation and Information and technology. Therefore, options C and D are correct
answers, as they are the elements of POPIT that consider these issues respectively. Option C considers issue 1: The
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suggested changes to the business structure will affect our relationships with suppliers. Organisation is the element that
describes how an organisation is structured and governed internally and externally. It helps to identify who are involved
in decision making and authority within an organisation and how an organisation relates to its stakeholders outside its
boundaries. Issue 1 relates to organisation, as it involves changes to the business structure that will affect how the
organisation interacts with its suppliers, who are external stakeholders. Option D considers issue 2: The proposed
electronic data sharing with our suppliers will raise legal accessibility issues. Information and technology is the element
that describes how information and data are created, stored, accessed, used and communicated within an organisation
using technology systems and tools. It helps to identify what information and data are needed and available for an
organisation to perform its activities and processes effectively and efficiently using appropriate technology systems and
tools. Issue 2 relates to information and technology, as it involves electronic data sharing with suppliers using
technology systems that will raise legal accessibility issues regarding information security and privacy. Option A does
not consider any issue in this scenario. People is the element that describes who are involved in performing or
supporting the activities and processes within an organisation. It helps to identify what skills, knowledge, attitudes and
behaviours are required and exhibited by people within an organisation to perform their roles and responsibilities
effectively and efficiently. There is no issue in this scenario that relates to people. Option B does not consider any issue
in this scenario. Processes is the element that describes what activities and tasks are performed within an organisation
to achieve its objectives and outcomes. It helps to identify how activities and tasks are sequenced, coordinated,
controlled and measured within an organisation to ensure quality and consistency. There is no issue in this scenario that
relates to processes. Option E is not a valid element of POPIT. Procedures is not an element of POPIT, but a term that
refers to the detailed steps or instructions for performing a specific activity or task within a process. References: BCS
Practitioner Certificate in BAP Specimen, page 50. 

 

QUESTION 4

A company has decided to change one of its financial Key Performance indicators (KPIs). It has traditionally measured
profit through its gross profit margin, however, it now wishes to measure It through it Return on Capital Employed
(ROCE). The following activities are on the consensus Business Activity Model (BAM) 

1. 

a) Take control action 

2. 

b) Monitor performance targets 

3. 

c) Define performance targets. 

4. 

d) Define target customers 

Which of these would the event \\'amend KPI

Correct Answer: A 

The event `amend KPI\\' would affect the activity `define performance targets\\', as the company would need to change
its current performance target of gross profit margin to ROCE. The other activities would not be directly affected by this
event, as they are either related to monitoring or defining other aspects of the business. Therefore, option A is the
correct answer. References: 10 types of business events and their basic functions | Indeed.com UK 7 Types of
Corporate Events [+ Virtual Event Ideas] - HubSpot Blog 
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QUESTION 5

A report has been created into improving the scheduling of physio appointments at a major hospital An extract reads 

\\'The scheduling team have a strong set of skills that will not need to be updated However, the team should be split into
two. one dealing with inpatients and one with outpatients The introduction of a new telephony software and an online
booking system will also require changes to the process\\' 

How might these changes be BEST presented to communicate with the scheduling team\\'? 

A. Business Process Model 

B. Business Activity Model 

C. POPIT 

D. Prototype 

Correct Answer: D 

A prototype is a simplified version of a proposed system or product that can be used to demonstrate its functionality and
usability to the stakeholders. A prototype can be useful for communicating changes that involve new technology or
software, as it allows the users to interact with the system and provide feedback. Therefore, option D is the best choice,
as it would allow the scheduling team to see how the new telephony software and online booking system would work
and how they would affect their process. Option A is not a good choice, as a business process model is a graphical
representation of the activities, inputs, outputs and resources involved in a business process. It would not show how the
new software would work or how the team would be split. Option B is not a good choice, as a business activity model is
a high-level view of the business activities that take place within an organisation. It would not show the details of the
scheduling process or the new software. Option C is not a good choice, as POPIT is an acronym for People,
Organisation, Process, Information and Technology. It is a framework for taking a holistic view of a business situation,
but it is not a tool for communicating changes. References: BCS Practitioner Certificate in BAP Specimen, page 16. 
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